= A
‘<X B



1. Ml Xf2|

&=

e \
£l B 100 L 900
200, 0[4H |0, &t N 300
100 B9 Al 600
7, &4 0 6, 4 o 400
a- 100, EluH 500
900, 4t ® = 200
20 D s 700
J
- 10E 1z
100, 4t u 3008
600, 84 Afet 500%
300, At L B 7008
100, 4t L B 200
B 800, mH K4 8000t2|
M3 100, EluH B 40074
@ 2, Ml xt2] 4 ot
-
123 o133
457 B 592 At L4 289
213 @ 381 2 ol 21PN E 9 793
B 895 B 768 B [22JR=L:l 6l
M 622 B o6l4 = ELONIS, 23Je=El €1 758
B 135 829 o 24 el | 46
570 0 FHHENAL LM 530
306 @B e U 202
J




3

14%

) 83|, kAl
960, TS
| 72, BEIAMO|
329, Ao
B 509, 27
B 713, ZHa

2. Ml xi2| 4 YotH|

ne

-

o

455,
[ 364,
0 842,
108,
260,
658,

P
&
H0 O
Iz 0>
0]

o>
1=

1
I
>
S
S

1=
uH

o
1=
Ho
> 0z

Ho
1=
rO
e

@ 3, Ml xl2] 40| Xf213t Sopu|

165

) 8,8 ,80,8/80,8
A 5. 4, 6,500, 40, 6 / 500, 40, 6

17%

70, 8

[ 400, 30,5
2 100, 30,8
i 600, 70, 9
@ 900, 60, 2
300, 10,9

al.
aos.
(5 |
@ s

® s
@2
B 7.
| 4
@ e,
® s

m 3, M| Xt2] 40| Xf213t Sopu|

18%
B5
A 20
B 900
0?3
(5 |
B0
[ 800

B 40
B 400
o 4

@ 60
2 200
(13]

® 70

@ 300
@ 500
80
® 2

® 900
50
10

BB 06

9,

o w o 30 0
© 0N O — &

©
i

1=

700
. 20
70

ita

e o=

200

e iz

=

500

15%
510¥
683XI2
B 2749
M 182z
89412

4,100, 90,4 /100,90, 4
|, 900. 70. | /900, 70, |
9,2, 400, 90, 2 / 400, 90, 2
3. 800. 50, 3/800. 50, 3

=

60
200
40
300
|0

> =

nw o 1=

BB BABAB

me
o0

1. Ml XE2| 2



20%
D (RZHE]) 423,523
B (RZRE) 477,777
(RIZEE) 631,93 |
(RIZEE) 209, 409
21%
(RIZBELE) 245, 285
B (RZEE) 427, 447
B (ZRE) 138, 178
(RIZEE]) 822, 832
B (KZEE) 514, 544
m 4, o M|
20%
B 430,530 ) 845,
242,252 0612,
907,917 6217,
524,525 B 974,
3612712 317
3 786,787 349,
528, 828 688,

24%

0 941,
362,
450,
163,
3 884,
B 560,
748,

951,961
365, 366
550, 650
263,563
881,880
550, 540
4438, 348

B (RZHE]) 283, 683 [} (RZHE]) 925, 955

0D (RZRE) 441, 641 0 (RIZFE]) 356, 386

(RIZEE]) 345, 445 0 (2ZB2E) 679, 699

B (RZ5E) 405, 705 B (RZEH) 546, 556

(RIZEE) 751, 79|

B (2Z2E) 819,821 (IZEE]) 996, 1000

(RIZEE]) 773,776 (RIZEE]) 653, 657

(RIZEE) 247, 248 (RIZEE) 783, 785

(RIZEH) 530, 532 (RIZEH) 451, 453

(2IZEE) 333, 335 &) (RZEE) 187, 190

23%
865, 875 B 998, 1000/ | 408,418,428/ 10
632, 642 B 864,884/ 10 613,633,643/ 10
827,927 276,376/ 100 547,747,847 /100
975, 977 B 400,440/ 10 557, 558, 560/ |
., 319,320 @ 711,811/100 £ 860,861,863/ |
449,549 ) 258,261/ | /3 322,422,522/ 100
698,718
25%

) 998,999, 1000/ | B717%

B 112,142,152/ 10 M 3713

) 558, 658,758/ 100 89 3LH

@ 507, 407,307/ 100 B 12474

452,442 412/ 10

693, 663,653/ 10

189, 188, 187/ |



f2e=

oerm

B < B < ® > < @ > B <
a > B < o> @ < B < (35
8> B> B < B > m > B <
a> B < m> ® > o > 37>
a8 < o> © > a > 31 B >

® < B < (25 B < B <

B < ® > m > B < m >

J
m 5. S 40| 37| 4|2
-

L 28® 20%
B < B < B < ) ZEFA
8> a > B> 5 ZRIMIH
8> W< ® > 24 =l
a> ® < B > i 24t ojse
8 < ® > B <
a> ® > @ <
B < o> @ <

1LMXE% 5



m 6. Ml 20| 31| H|2

1]
3]

30%

104 159
455 491
783 509
842 925

a 170 319

N N N N N N N
o~ o1 PN (%) N — (=)

31E

320 317 341
527 680 520
119227 304
438 526 247
812 807
635 924 772
321 198 211

—
& 8 808806

[%) w [3%) w N N N
(%) N — (=) ~O 0 ~J

m 6. Ml 20| 37| ¥|2

32z

i) 883,859,817
200, 193, 187
608, 540, 490
711,682,598
B 475,414,399
B 967,776, 698
401, 345, 283

[ 557,
2 978,
i 308,
@ 952,
800,
619,
587,

260 300
713 122
278 504
834 799
679 515 @30
233 &34 335
177 463

226337 228
754 155 719
838 913 909
637 446 635
829 917 716
662 628 935
593

512,486
893, 866
218,178
932,912
791,785
539. 463
386, 164

® 902,

M 241

728,

B 457

E 622,

@) 810
A 215

723,
. 158,
726,
312,
356,
. 616,
212,

8 868 8 B8

B8 8 88 8 88

648
136
725
274
322
590
181

647./522 650

218 214 219
741 718 693
372 416 235
584 519 577
823 364 152
752 954 k78

429 )38 610
100205 182
410 407 426
873 916 794
265 428 603
918 823 822
537 546 86

33%
QoI
LE|LtE
nELf
o535



34%
i 500/ 24
B 715/ 2uMe
E) 439 / AletiAaT
856/u.H:|H2AIO
3 200/ 0[H
B 912 /7ol

35%
(B 200,210,220/ 10
@ 750,751,754/ |
B 997.999. 1000/ |
B 394, 494,794/ 100
@ 510,810,910/ 100
B 406,416,446/ 10
@ 231,221.211/10
) 873,573,473/ 100

=

. 60
600
800

1=

—
E8B8000

= e ne 1=
o)

|0

@ <
B >
>
<
165, 146, 138
550, 315, 220
947,943,921
732,627, 449

36%
900
4LO0E
3724
8254
94822
X|et 0=
CHE

1. Ml XE2| 2

7



ol (£ xta| 4)+(3t xt2l 4)

1=

N
38% 39%=
] 22 B 42 ® 27 i) 68 7 2| A 66
A 20 B 4| ! 31 A 72 i) 22 6 71
B 31 B 50 B 40 7 82 7 31 g 72
@A 30 2ol M 41 7 84 &) 34 & 82
8 35 m 72 (17]Y] 7 9| & 42 E 83
M 74 @ 52 7 90 & 45 & 90
® 84 B 60 M 96 33] @ 94
J
A7) 1. worzaol U (5 Xtz A1 xtzl )
-
40% 4%
@ 20 B 41 B 65 7 20 29A |71
2 B 45 m 70 7 24 &5l & 70
B 23 M 52 w71 7 2| & 52 & 80
A 32 @ 53 e 82 73 30 &8 57 g 8|
@ 30 A 50 £ 85 M 32 & 60 M 86
M@ 36 B 63 @ 90 7 33 A 63 A 9l
@ 43 @ 62 21KA ) 43 & 62 ® 93
J/
A1) 1. oLl U (5 xtal A1 xt2l )
-
42% 43%
B 20 B 62 B 22 @ 32
38 2 73 M\ 32 44012
B 42 m 75 ® 40 i 57
@ 43 @ 80 @5l 25 Y
A 54 8| E 63 i 702X|
@5l B 9l & 73 7 85H
A 60 @ 95 @ 86




m . olo] xtalollA] Brorg2lo] Sl (5 xt2| AMHE Xf2| £)

M 65
@ 70
B 94
Bl
m 72
W 8l
2 90

2, ol xtzlollA Hrokgol Uk (5 xtal

5l
2 62
i 90
® 63
2 75
® 8l
m 77

B 30
@ 52
B 60
M 83
® 8l
® 95
® 6l

B 9l
B 90
i 82
® 94
® 90
200CH!
7 98

45%
) 86
7 70
A 8|
R 92
i 90
250C8

i 94

7 43
@ 52
@M 32
3 80
M 53
7l 42
i 8l

AHHE xt2l

80
48
80
70
73
54
71

=)

50
6|
80
92
77
81
95

m . 4ol xt2lollM olZFol Qe (£ xt2l £IHE xt2| 4)

B 83
2 90
m 97
(11 0CA
P 82
® 90
m 92

B 43
B 74
170CA
B 66
® 8l
/m 93
21 CH

A 62
€3 85
76
£ 90
g 96
& 9l
M 92

B 73
& 83
£ 82
0 98
m 92
@ 90
M 94

49%
M 40Z3
62012
857H
25 AR
0%t
94Ft

n
=



A7) 3. 4021 xtzloIM ool Sk (5 xiel 4)+S 32l 4)

50% 51%
B 104 @ 136 B 109 @) 127 7 108 @115
A 109 M 129 @ 105 A 128 7 109 8 143
B 107 B 109 B 107 @119 @112 @ 137
@A 138 2 170 M 128 23 PAA & 109 &6
@17 M 159 ® 136 2. & 125 & 159
M 118 ® 148 156 & 117 & 127
A 149 B 138 M 179 € 135 7 183
NAQ 3. Aol xi2lofix ool QU= (F xtal $£HHE xtal 3)
52% 53%
/108 B 128 B 149 @ 107 7 148 0 149
A 107 B 149 M5 % 102 119 &l 168
B 105 M4 @ 105 A 103 & 108 & 106
miis @ 109 B 148 129 & 137 & 129
@119 i 139 ® 172 M 108 & 119 @119
@ 129 B 165 ) 126 @ 128 @M 113 7 158
@14 |15 @ 137 i 122 & 128 # 109

m 3. Alel xi2lolM Yool Yk (S xf2l 2)HE X2l £)

54% 55

B 105 Bile B 109 B 104%

A 109 0 142 B 106 5 | 08XIF
B 108 M 154 W 109 12874

M@ 125 | 106 e 129 75 1 007N

B 139 ® 179 m 117 || 9ty

B 124 ® 108 m o119 @ 1790t
@117 @ 155 A 142

10 SAxpok 2-1 Mg



56% 57%

R @ 123 B 102 @) 12| 27 NKe; @110

2 e @110 ;125 @ 130 7 106 9 135

|13 B 141 B 122 3 |24 7 120 @ 131

@21 g 122 milo ) 143 & 110 & 113

SN M 123 @ 130 A 152 & 123 & 140
| 146 B 153 B 154 2NN & 120
B 121 m 112 M 137 & |14 @ 142

A7) 42018301 £ 4 24 (5 xt2l 1HE X2l 4)

58% 59%

|10 B 125 B 172 @110 29N W) @ 104

A 10l B 142 M\ 160 113 &) 125 & 130

B 120 M 122 @ 131 7 108 & 140 &) 153

M3 @m o1 B 123 M2 & 125 & 170

@ 100 A 122 e 190 m 112 & 106 @ |51

o7 B 151 @) 130 @ 10| @M 113 A |24

(2o @ 140 A 122 ) 100 £ 132 112

L7170 4. 2018301 £ ¥ U (5 xt2l 214 el 4)

60% 61%

B 10l B 134 B 100 B 1212

A 120 2 151 mi2 ® 105%

Bl M 127 113 7 10171

A 3] @ 120 w1 /5 13102

A 121 B 142 E 151 1 | 542z

@B 104 B 134 7 162 @ 186H

@ 123 @ 193 @110



£FTD

5, of2{ x| Yo @ SiEh|

62%
M5l A 90,15, 105 M o6l
A 40, 15,55 @60, 11,71 B 45, 50
B 90, 13,103 @ 90, 11,101 B 77,81
M 69,75
@ 53, 60
63%
2 88,90 E 44 7 5, 60, 100
B 76, 84 B 830, 110 & 4,70, 162
A 78,81 B 5, 30, 82 A 2, 80, 101
B 99, 103 7, 40, 82 6,90, 153
M 95, 104 & 6, 50, 90 |, 90, 102
A7) 5ot i ez ssh
64% 655
) 5, 20, 43 B 7, 10, 60 B 10,50, 60 @ 2,50, 9I
M 70, 80, 93 B9 12 92 M@ 1,20, 42 # 50,99, 101
B 10, 31,40 M 3, 60,83 @ 1,30, 124 7 30,97, 106
A 30,57, 61 @ 20, 86,90 B 50, 82, 90 7 2,70, 93
@5 40,110 [,70, |24 B 60,90, 101 7 10, 86, 94
@240, 116 10, 84, 9| &) 7, |4, 64 M 8 12 102
2 50, 95, 102 A 80, 90, 99
AAH&EHI otg2|
672 68%
B 80 B 102 A 4| ) 104 & 120 M 20
2 10l M| 100 23 & 109 & l6 & 744
M 107 @121 A 6| & 106 @ 103 7 96%t
| 139 M 133 7 70 & 108 A 143 %) 923
B 124 m 121 A 84 & 108 10| &) |04z
[\ 129 20NN 7l 8| & 129 & 100 & 1793
M 82 123 @112 i 80 @114 M 130 B 12232
i) 93 & |14 /A 122 B 1569

12 SAxpot 2-1 ¥y



1, (BA)-(8t xi2l $)

LI
-
(- E N
017 M 32 ® 12 200 @6 4 55
2 0 44 m 29 A 69 18 3 66
B 23 B 49 B 37 /A 63 ) 22 0 64
;A 28 [ 56 M 33 /75 € 24 &l 72
A 31 M 68 7 i 78 & 35 & 77
| 76 e 48 2503 A 42 & 87
® 85 B 54 /M 89 €8 57 M 84
J
m 1. (ZAD-(S xtal &)
L T2m 73%
D19 B 43 (15 211
A 4 [ 58 m 26 B 34%
27 D 52 39 46012
M@ 25 W o6l B 47 @ 6571
@ 38 67 B 53 7140
M@ 36 ® 73 i 62 7 88H
@ 45 i 86 A 79
m 2, WolLhigol Y= (& xt2l £)-(T xt=| 4)
-
748 aE==D
(1 B 28 ®s @ 59 @ 9 A 49
a7 Ml 39 @14 @ 57 i 8 3 48
B 18 B 48 B 24 i 69 29N 3 52
(4 I [ 58 B 36 E 66 € 19 & 59
B 29 M 67 W@ 37 m 78 @ 23 ) 68
| 76 © 47 i 73 & 34 € 78
® 86 0 44 M 86 & 37 7 88
J

I3

0x

13



AT, 2. wotuigol st (5 w2l 412 xtal 4)

&E=D =D

B9 B 39 B 67 220 7 29 € 68

a9 [ 48 m 79 ® 5 & 39 & 69

B 17 M 49 W 77 M9 ) 38 g 76

;6 M 58 m 79 19 A 42 | 79

@ 27 i 59 i 88 M 18 8 46 7 88

? 29 E 68 i 87 27N e 59 A 86

i 38 2 66 7 88 i 25 €5 58 @ 89

m 2, WolLhgol Y= (F xt2l 2)-(T xtzl 4)

o 78m 79%

1 ] B 48 B 9 7 2871

A 15 [ 58 w16 7 3774

B 24 M 59 W 46 M 4574

;27 ® 65 0 69 M 56%

@ 37 68 77 69XI2

M 38 76 88 870tz

M 49 i 86 7 89

m 3. (ZAN-(E Xkl £)

- 80% 8z

(1 D18 ® 9 /M 37 @ 3 34N

(2 W3 i 33 143 a 16 28] 5 32

B 17 8 | (15 /M 23 29I & 57

(4 I B 16 M2 /5 44 15 & 38

B4 [10J83 W 24 M 2 @ 14 €13
W 25 ® 16 /| 75 A 19 39N
@ 31 ® 29 M 68 85 @ 44

14  Sixp st 2-1 =8




3. (BA)-(F xt2l )

-
&=D - 83m
a7 B 25 B 54 22} 7 14 3 35
(2 al M 69 ® 2 & 27 & 21
B 13 w18 W@ 47 16 31 W € 36
(4 S M 34 B o6 25 (32JF3 & 17
@21 B3 M 29 | 2 8 43 m 9
@15 B 29 i 36 @I 3N 41 W
@17 (148 @ 73 ® 8 £ 49 @ 23
J
3, (FAE xt2| 4)
o 84m 85%
03 0 32 (5] @B 5=
2NN 0 2 B3 7 3774
B 24 M 38 W12 @ 22ty
9 39 B 36 | 20}2]
@ 23 | 27 ® 17 M 584
A 35 ® 56 @ 16 27 AR
@ 14 @ 33 @ 41
AT 4. wotuiol gt (5 wte1 415 312l 4)
-
- E=D
(1 |} B9 ® 7 200 @ 7 8
(27 M 28 (1400 21 ] 28] €5 23
B 18 B9 B 14 22)% (2903 M 26
a9 85 M 25 ) 28 &9 & 45
@ 27 o 37 (1783 i 39 @ 19 3 38
M 49 B 36 i 56 A 24 39N
B 36 ® 25 M9 €8 35 7 58
J

I3

0x

15



1012
0:

4, WothRlo| Yt (£ xt2l )£ xt2| )

L
B 26 B 7 7 8 29I B 59
a7 2 39 m 22 /% 9 g 9 & 57
(3 ) o 29 [17]K! @ 6 € 44 & 19
mi2 (11 © 48 /3 26 & 36 ) 49
B 19 ® 39 19]K] @m 7 B 19 M 46
(6 ) ® 16 ) 28 @19 28 @ 35
(7 | @ 55 @ 9 i 29 (35 ® 18
@ 4, WotLigol Y& (£ xk2l £)-(F xt2l 3)
-
- 90E 91z
] s B 29 B 9 7 6x2t
(2] 0 28 m 17 m 9d
B2 M8 W 37 M 48TA|
a7 | 68 w16 B 36%
@B 27 P19 B 39 M 274
;28 B 47 m 57 a1 87M
B 16 n 28 @ 35
J

m 5, of2] kx| Yo 2 WAIsH|
L2z
019 A 52, 47 @? 15
A 24,19 @ 33,25 [ 13,20, 19
B 21,17 M@ 65,58 2 17,30, 29

M 22, 30, 28

B 45,10,6
DNCEE-
B 34,30, 28 W19 70,12, 18
B 26, 40, 39 B 40,21, 23 8 70, 31, 38
i 58,20, 19 ® 40,12, 18 A 80, 61,69
B 61,20, |4 /) 50, 12, 15 8 90, 43, 44
B 67, 30, 29 @ 60, 31, 32 M 90, 1,7

16  Sitxp ot 2-1 8




£FTD
94z

5, of2] tx| PHo 2 WSl

-
| 95%
@10 21,19 0 3. 3,27 B 4, 4,56 @ 5,5, 65
A 30, 14,18 2 50, 3,9 B 70, 46, 48 7 76, 10,7
223 i 30,28, 19 9.9 15 % 60, 32, 26
A 30,136 M 60, 14,17 B 55,20, 19 M 7,17, 36
@377 28 20, 45, 38 @ 31,50, 46 74,20, 16
3 40,21, 29 ® 99 18 ) 80, 35, 37 M 90,21, 27
50,12, 14 @1, 1,39
J
m GIAFR 2Xbx| 022l
-
968 i 98%
0 59 B 13 B 7 7 83 & 7 8] 19 3 380t2]
A 74 B 26 m 7 ® 7 & 25 39 ] 7l 6871
B o6 M 25 17]R% M 18 & 22 m 37 & 17
n 7 | 24 e 28 7 29 & 13 @ 27 &) | 3H
A 28 120y ® 27 M 38 € 15 @ 16 & 39ty
M 39 B 58 & 19 @l 47 9 34 B 34 @ 6%
i 54 @>s5 @ 37 i 78 M 19 m 16 B 284
%) 88 37]K] 7% 59 & 46714
J
3uM 17



100%

B 14,9/ 14,9

M 25, 17/25.8
E) 37.19/37. 18
M 42,26/42, 16

B51,39/51,12
3 63,37/63,37
A 72.28 /72, 44
[) 83,38/83,45
£} 94,38 /94,56

101%

M8 15/7. 15

® 14,23/9, 23
B 28,35/17, 35
19,47 /28, 47
8 27,53/ 26,53

36,64 /28, 64
B 29.75/ 46,75
B 47,81 /34, 8|
M) 57,86 /29,86
58,92 /34,92

) 95, 49 / 95, 49

102%

W3 11,3 11/
|1 —3=8,11—-8=3

B 7,24, 17,24/
24— 17="7,24—T=17

18,33, 18,33/
33—18=15,33—15=18

16, 41,16, 41/
41—25=16,41—16=25

103%

16,9, 16,7/
74+9=16,9+7=16

W 21,6,21,15/
6+15=21, 15+6=2]|

M 44,28, 44,28/
|6+28=44, 28+ | 6="4L4

(A 52, 25,52,25/
25+27=52,27+25=52

18  SAxi ot 2-1 Mg

M 17,62/ 45,62 # 17,93/76,93

@ 22,61,22,61/
61—39=22,61—22=39

M 57,76,19,76/
76—57=19,76—19=57

47,85, 47,85/
85—38=47,85—47=38

B 36,91,36,91/
91 —36=55,9|—-55=36

65,19, 65,19/
|9+46=65, 46+ 19=65

78, 49,78, 49/
29+49="78,49+29="78

(B 82, 37,82, 45/
37+45=82, 45+37=82

@ 93,75,93,75/
|8+75=93, 75+ 18=93



@ 2, GiAlMlollxd (2] 3t 23hI

104%

D4

A 23,8, 15
E 35,16, 19
A 46,19, 27
[ 52,28, 24

m 2. Aol (o) 3t 25

1062

B>
(2
(3 lK]
0B
B 15
(6 I
@l 27

‘m 3, WMIAloflx] (o] 3t 23h

108%

D7

A 22,6, 16
E) 35,1718
D 41,28, 13
B 55, 26, 29

3 54, 15,39
66,29, 37
B 71,25, 46
B 74,17, 57
M 82,55, 27
@ 87,38, 49
94, 69, 25

B9
16
M 29
| 47
® 7
B 34
@ 39

B 64,29, 35
68,19, 49
) 73,48, 25
2 77.39. 38
M 86, 18, 68
0 88, 49,39
® 98, 9. 89

105%

® 9
?17.9.8
B 22.8 14
M 26,197
@ 31,15, 16
B 33,5, 28
B 45,26, 19

B 37
M 25
i 36
e 28
® 69
7 58
7 48

109%

13

A9, 16,25
B 2 19 21
B 9,28, 37
17,27, 44
(B 15, 38,53

£ 39, 19,58

53,19, 34
56,38, 18
62,217, 35
67,29, 38
73, 14,59
81,13, 68
92,69, 23

107%

| 77H
389
| 5%
37&
583



m 3, wAiAloflA] (o] U 5hI

110%

D9
(2 JK
(3 I
;s
(5 3
B 14
M 28

(8 M)
2 25
M 16
M 23
P 66
E 67
@ 74

12%

) (RIoIM=E]) 6
@ (RIIMSE]) 5
SIOIMSE) 8
SIIMSE]) 9
¢ E) 7

(
(
(
(Floil A5

a

(FIOIM=E]) 8
(oIl MSE) 5
(RIOIlMSE) 9
(OIS E) 7
(FlOIlMSE) 9
(PIOIIMSE) 4

20 SAREAM 2-1 Mg

68, 68
54, 21,
86, 50,
94,76,
74,61,

33,38
51, 34,
97,70,
77, 23,
98,75,
43,22,

54
86
94
T4

51
97
77
98
43

B 76
o 38l
82
E 83
® 94
i 96
97
B (RIAIMEE) 82, 76,
(FIOIMEE) 91, 26,
£ (RI0MEE) 49, 41,
2 (RIIMEE) 93, 55,
M (IMEE]) 58, 51
@ (RAMEE) 71, 41,
B (RIIMEE) 87, 62,
) (fIoMEE) 93, 30,
(FI0IMEE) 96, 81,
(FIMEE]) 84, 56,
(FIMEE]) 31, 27,
(PIOIMEE) 8 ,33,

82
91
49
93

. 58

71

87
93
96
84
31
80

1z
27H
52%
45
| 850|
929



21

0

0
[ujs

Glk

4, M 2

14%

0w — < — O 0O O 0 M —
O~ O~ 00 O O O 0 o o~ O
™M™~ o ™Mo N Mmoo
O O 0 00 0O N>~ — >
M~ O ™Mo N Mmoo
O O 00 00 0 0 N~ — >

o~ o~ o~ o~ — —~ o~ —

o o ool ol ol ol o ol ol
EOEEE BAE6S6
o+ O~ 0 — >~ O O M &
[S N e < 60 O 0 O
N 0o N — & o N N oo
>~ o >~ O © O >~ N O
N O N — & N N N oo
>~ v >~ O ™M >~ & N O

T D D o o T D D o O
TN
I roEr s osr s
ol ol ol ol o ol ol ol ol o
(oli~NoNo N2 SESESESER

%0

<

ol

MmN 0 O o~ N O — IO <F

o F N O O O O O [~ w

o @ = = ~ 9 @ = .

o M — — ™M 0 M N WO <t
o o = — 5 o=
O N — — o 0 M AN W
T T T T T T T T T
MmTiing
rerogrodr s o oo orogr
ot o ofl ol © ol ofl ol ol ol
G0 Eeaann

N7%

747M
69%
91
725k
934

B 95
B 65
@ 75
E 66
® 90
i 82
@ 96

B 84
0ol
M 93
® 71
® 57
B 86
i’ 96

116%

0 97
A 43
B 77
A 90
B 3l
B 29
i 80



118%
) (floMEH) 6 @ (AAIMRE) 16, 24, 16
a (T|01|H$E1)3 7 3 (RIOIMERED) 9, 16, 9
E) (oAIMEE) 11, 18, 1] B (RI0IMEE) 5, 23, 5
(RIOIMEE) 6, 9, 6 ) (RIIMEE) 4, 16, 4
B (MEE) 5, 16,5 M (IMEE) 2,7, 2
0 (RIIMEE) 19, 36, 19

19%
B (RIMEE) 14, 28, 14 B (RIIMEE) 22, 41, 22
B (RloMEE) 9,31, 9 ® (RIIMEE) 13, 29, 13
(PIOIMSE]) 35, 43, 35 7 (RIIMERE) 49, 67, 49
B (RIIMEE) 39, 44, 39 7 (RIMEE) 8,51, 8
B (KIMEE) 7, 25, 7 2 (RIIMEE) 15, 64, 15
(PI0IMEE]) 32, 39, 32 (RIIMEE) 41, 69, 41

1202
[ 1 ]} 0O (IZEE) 24, 24, 8 M (21Z=2E) 33, 33,5
A (RZ2E) 9,9, 6 (RIZEE) 26, 26, 18 A (RIZE2E]) 29, 29, 23
(RIZEE) 3, 13,7 [ (2IZEE]) 23,23, 16 (RIZEE) 39, 39, 24
(RIZHE]) 19,19, 12 0 (¥Z2E) 19,19, 5 (RIZEE) 26, 26, 7
B (2IZ2E) 27, 27, 8 M (ZZE) 17,17, 9 B (!ZZE) 51,51, 28
121%
M (RIZEE]) 52,52, 16 A (RIZE2E) 50, 50, 35 i (YIZHE) 78, 78, 33
(RIZH2E) 31, 31, 8 7 (RIZEE]) 65, 65, 27 (RIZEE) 46, 46, 19
(B (2IZEE) 45, 45, 19 (RIZEE]) 76, 76, 37 o) (RIZEE]) 75, 75, 29
(B (MZH2E|) 57,57, 48 (RIZHE) 32, 32, 6 (RIZHE) 79,79, 60
(RIZEE) 9,9, 3 (RZBE) 71,71, 47 (RIZHE) 29, 29, 22

22  BMREM 2-1 HE



122%

@5
(2 JK
87
a2
@10
(6 )
(7

B

124%

{Ofl M=
2

0 ¢
(2N
EI IS
(%
(%

B (RIS

125%

A (oM EH
(SOl A E
(IS H
(B (fIoM5H) 3
B (IolMERE
(IS E

= = O O O

6. M

18,18

|01|*‘|—'?'—E1 7,26,

37,70, 37

|01|*'|—'?'—E1 69.97. 69

1) 27,51, 27

12,12
23,9, 23
44 7. 44
. 16,31
72, 36,72
85, 28, 85

=
x

(8 )
219
(10]83
@ 17
@ 34
® 44
? 28

2| Sixliat

B 16
(16 ]
@ 23
® 29
® 59
m 4
@ 9

(IOl MSE) |
(IOl MSES) 2
(oIl MSE]) 5
(PIOIIMSE) 4
(FIOIAM=ES) 7
(FIOIAM=E]) |

(ol AM=E
(IOl AM=E
(0l M5 E
(0l A5 E
(RAOHIM2E
(%

) 4
)6
)9
)9
)5
Ol M=E) 7

7.82, 17
24,772, 24
56, 95, 56
48,92, 48
76,91,76
6.93. 16

46,8, 46

66, 27, 66
95, 47, 95
94,27, 94
52, 26,52
74, 68,74

123%
193
5zt
| 17
215
27M



3

126%
M5
(RIZBEE) 63, 63, 34
(RIBEE) 5,51, 12
A REZEE) 61,61, 16
B (2IZEE) 96, 96,77
1272
M 33

(RIZEE) 4, 4, 43
B (KZBE2E]) |5, 15, 64
0 (2BEE) 6, 6, 54
(ZLE) 9,9, 22

128%

1 ]
A 29
B 17
A 37
A 15
B9
i 39

24  BUXHEM 2-1 HE

6. Ml $:0| S at

m 6. Ml 20| CiMiq}

B 66
0 23
M 63
@ 54
® 31
® o6l
@ 42

Illél Lélll

Py

o o rlo ro rio
B> T < T
I 4r 4o 4o 4o
KU L 1T UL}
J
o

ro ro rlo o rto
ST < >
I 4o 4r 4o 4r
KIUENIU U Ui}
w
(0,9]

NESENSENSEN
&) €& Y Y &
—_ o~ —~ —~

lllél AI':III

.93, 117
.73, 38
.70, 33
.76, 27
. 84,66

. 18,23
. 37,51
. 38,74
19,47
.35, 44

Bs5l
m7I
W 37
B 64
® 32
®m 25
@ 52

Ef) 83,83, 19
E) 91,91, 28
.81, 47
Ef) 91,91, 65
Ef) 92,92, 43

BEBEEB
o Tio Tio o 0

Fill
4T 4T 4@ 4T 4C
m
(o)

Ef) 36, 36, 91
Ef) 25, 25, 63
. 78,93
Ef) 46, 46, 84
Ef) 77,77, 92

B88A8B
o o o o o
Fiiis
I 4 4C 4T 4O

n

3

(oY

129%
80tz
83018
247K
439
87tH



1805 132%
BI1-5=6/11—-6=5 B4 m | 5%
32—24=8 / 32—8=24 B9 5412
43—18=25/ 43—25=18 27 3437
56—17=39 / 56—39=17 16 7 | 0F2|
B 43+28=71 / 28+43="1 35 2974
B 29+59=88 / 59+29=288 58 463
68+26=94 / 26+68=94 49 83H

B 29

131%

(16 ] 56 7

8 79 26
B9 90 9

@ 37 74 59
80 4 62
95 | | 92
82 9 43

® 97 € 28 & 73



5. =g

1. £of M|
- 135%
[ 1 K] (3K B8/6,8 10,12, 14, 16,16 M2/8, 16,16
a-s A4 B 3/7 14,21,21 f5/36,9,12, 15,15
a7 B 6/4,8 12, 16,20,24,24 B 4/5,10, 15,20, 20
L6 )
1. £oi M|
o 187%
B9 18/2 18 M3 12/4,12 B6,12/2, 12 M2 8/4, 8
A 6,42/7, 42 B 5,40/ 8, 40 B 4,28/17, 28 (0 3,24/8, 24
B 7.21/3 21 @ 8,32/4, 32 ) 5, 45/9, 45 A 6,30/5, 30

@ 2, Ho| % b opun|

f15/5/2,2,2,2,2, 10
M 4/4/8, 8, 8,8, 32

139%
E) 3/3/4,4,4,12 (6 S ® 2 7
M6/6/7,7.7.7.7.7, 42 5.2 @73
B 7/7/3.3.33.33,.3 2| 6.5 B 8. 2
24,9 B9 8
W22 i 8,6
M®s.5 ® 3.3
B 7, 4 ® 4 8

26  BMRHEM 2-1 HE




m 2, Yol g bl LotE|

140% 1412
06/22222,2, 12 @ 5/8 8,8, 8,8, 40 M 48%
3/6,6,6,18 B2/7.7 14 B 30z
B) 7 /4 4 b4 b b4 4 4 28 () 8/3,3,3,3,3,3,3,3,24 13N
M 3/9 9 9 27 B 4/5,5,5,5,20 A 20714

3 9/6,66,6,6,66,6,6,54 [ 3/8,8,8,24

142%

B 18/18
M 5,5 5,5 20/5, 4,20

143%

@ 32/32

f23339/33.9

[) 8.8,8,8.32/8, 4,32
27.7.7.7.7.7.7.7.7,.63/7.9.63

@ 2
a4
(5 B

W2
m 9.
B 6.
® s

O &~ N

02,2,2,2,2,2,2,18/2,9,18
bbb 4 4,28 4,77, 28
. 9.27/9.3.27

0 2,2,2,2,2,14/2,7, 14
. 18/9,2,18
,6,6,6,6,36/6,6,36
.5,5,5,25/5,5,25

I
o

27



Y 06 ur 1

144%

B 42/6,7 42
B 16/2.38. 16
B 14/7.2 14
M8/2 4,8

@ 20/4,5,20
D 48/8, 6,48
A 54/6,9 54

M|
g a

Al
=

fo |

0 24/ 3,
2 36/ 4,
M 36/9,
w21/,
2 40/ 8,
B 54 /9,
@ 10/5,

146%

Mo6/26 12
M2/9.2 18
B 4/7 4,28

AT -

148%

@0

M 9.5, 45
B 326
A 5. 6,30
@7, 9, 63

i}
34

28 SR EAM 2-1 Mg

Mo Oow ko

M 9/4,9, 36
33/6,3, 18
3 8/3.8 24
B 7/5,17 35

Aloa Lietil

@ 6,8, 48
[ 8.3 24
4,312
2 9.4, 36
M 4,7, 28

24
36
36
21
40
54
|0

1472

B 5,30
29 18
o 8,56
| 3,27

145%
9z=Zt
B 247
| 274
B 1274
® 45012

2 6,18
B 7. 42
s 16
B2 16

149%

m 27
| 27H
24
| 47H
3274
2572l



1560%
M2/2/224
P 3/3/4,4,4,12
B 4/4/6,6,6,6, 24

151%

M 3,3,3,3,3,318/3,6,18
@ 5,55 5555 35/5,7, 35
B 6,6,6,6,6,30/6,5,30

B 388 16/8,2 16
M2226/236

A5
353
@38
389
26
9.7

B 12/6,2 12
@ 49/17,7, 49
i 32/4,8,32
B 12/3,4,12
® 27/9. 3,27

162%

I5E
247H
| 874
5652
364t
B 544
2174

ol
i

29












	지학(2학년연산)_정답(1단계)
	지학(2학년연산)_정답(2~3단계)
	지학(2학년연산)_정답(4~5단계)



